FPS-305 il & iy o ik AR ik 48

FPS-305 ¥ & B Ik 1 38 4%

With Readout
(M20xp26x108)

FREMH®R:

BRI IE S 32 MR F Tk & AR, WOE. ARG, . %
FRA, N SRUAERL. g, Ria. B A S K IR S e

BiARTE I 40: (http://www.fx-sensor.com 010-51295202)
R 0-10MPa~0-150MPa

LR keI 0.2%FS. 0.3%FS. 0.5%FS. 1.0%FS
N ERS) 4~20mA; 0~5V; 1~5V; 0~10V;
AR -10°C~+80°C

KIS E 1 0.1%F.S/4F

(aEREENET 10~36VDC; 15~36VDC;

RSO M14x1.5. M20x1.5. M12x1.5; &l
BT LAY <800Q; HiL/M>50KQ

BB IP65~1P67

TG e 120%; R #E: 150%

EAS K FPS-305-1M-01-C-1-I-CW -ZC-1m

FPS 305 1 M 01 C 1 I Cw ZC I1m
305 15 (http://www.fx-sensor.com 010-51295202)
1 AR CERECFFRE)
M &1 ¥4 ( K=KPa, B=Bar, M=MPa,H=mH20 )
o1 WfE
( 01=4~20mA, 02=0~5V, 03=1~5V, 04=0~10V )
Cc MY (%FS) (A=0.1, B=0.2, C=0.3, D=0.5)

65 KT BB A B A 7 http://www.FX-Sensor.com



http://www.fx-sensor.com/
http://www.fx-sensor.com/
http://www.fx-sensor.com/

FPS-305 k1 & iy a1 ) AR

. FE 24
(1=K 2 =4E%
MRS
I (I=M22x1.5; J=M20x1.5; L=M18x1.5; P=M16x1.5; M=M14x1.5; N=G1/4-19;
Q=1/2-20; F=M12x1; R=1/4NPT; S=1/2NPT; T=1/8NPT; U=7/16-20)
c WRRA 5Tl 22 (°C)
( CW=-10~80,CG=-20~125,GW=-30~150)
555 ik
ZC (ZC=M22x1.5 airproof port DI=Hirsmann Connector
HK= 4-pin navigate plug FS=Waterproof&anticorrosion Cable)
im K (G B BT £ (http://www.fx-sensor.com 010-51295202)

65 KT BB A B A 7 http://www.FX-Sensor.com




